9? 17?

N ™D = = oy > < [ [ 3 > ©
= o © o N o S R o o = 9o > 9
S N g o ~ >~ o [$)] [e] &3‘ o W C
o O -+~ o o o o (@) O C
W 07°/Z=7 ‘W 89'Cl=0] ‘W C60=M W G0g=7 ‘W 80°Gl=0] ‘W ¢7°0=M -
W G861 w 00'001=Y ‘[Blzie*/I=b W Bl 9L=1 "W 00°005=4 [0]i6¢8°=0

2 5 > N 2

@ © ° Q 3

o (=] [ o o
Wy yL=1 WLL o] ) Wye o= W9'9r=1 wzy'ss——m—"—"" /0=
% h6°0=1 %681l — 00°000L=Y ] %515|L= %2G9°9=1 %e8p L= o%‘o%li

5 E E S 3 g 5 2 E

=) ~ 3 < > © > = &

<6TlLL>

[l TWZ1 Gg'e0 AUPNpIMAPUT pZDlZ

e
\
\
\
970 \'

08'GLl TWZI Gg'c0 AUpnpIMApUI pzol7 | 08'SlL

620

<6L'6LL>

620



